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int days, years, weeks:

/* Tnput total number of days from user
printI ("Enter days: %);
scanf ("%¥d", &days) -

i '.-1---

YEAars (days. / 365):
Wweeks = (days % 3B5) [/ ¢
days = days { (vears ¥ 3€5) + (weeks * T)):

printf ("YEARS: %d\n", vears);
princf ("WEEKS: %d\n", weeks):
princE (*"DAYS: %d%, dava);

retarn 5
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process returned © (8x8) execution time : 4.578 s

ress any key to continue.




flﬂat X, v, x2, y2, distance; _.43$4£J
.'prlntf{"Input L ”fﬂﬂﬂL

scanf ("$£", &x): HEHI
printf ("Input v: ") | i
scanf ("SEf", &v).

printf("Input x2: ™) ! | fﬁi“

scanf ("sf", &x2): ﬂﬁ%
printf (®"Input y2: M): ﬁﬁﬁ
scanft ("¥Lf", &y2); il

distance = ((x2-x)"(®2-x))+((y2-y) " (v2-¥) )

printf ("Distance between LIE bmlﬁts k.85 sqrt[d

prEEinte{"\n")
retarn 2
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Input x2: 56 *

Input y2: 84

Distance between the points: 62.3699

Process returned © (0x0)

execution time
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"C:\Users\Emmanuel Wonighan\Desktop\asu ass\new 2\bin\Debug\new 2.exe"

Input the first value: 45
Input the second value: 70

Input the third value: 86

Not possible to create a triangle..!

Process returned 36 (6x24) execution time : 5,188

Press any key to continue.
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Input the first value: 5¢
nput the second value: 23
Input the third value: 71

Perimeter = 144.0
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printf ("Enter age of person [%

Scanf ("%d", fage) ;

=17}

]
F

6 && agex

ent schodal++:;

cnt baby++

if (age>=0 && age<=5)
else if (age>

else
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-2 age person
Azer age of person
tnter age of person
age of person
age of person

age of person
age of person
age of person
age of person
age of person
age of person
age of person
age of person
age of person
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rand ()
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time (NULL)
(ansigned)

srand (stime)
random genNo
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fgffincrease counter
. count+=1:

iread nunber from user

t printf ("\n\nGuess a number from (0 to 100Q): "):
{88 | Scanf ("id", &num) ;
;
4 LiComnpar
“if (random genNo==num) |

printf ("Congratulations, you have guessed a correct number.®):

break: ;;

lentfl"“qu:ﬁteﬂ number is less than entered numbEr, Ery FDuI_;F?k:F"

% | M} Crec .. X £y Build log < ¥ Buildmessages

'ﬁﬁ:ﬂiw 4 Iécmpiler CHU GCC Eﬂmpller} ———————————————

;:-llIiREmmanuil WonighaniDesktop'asu a=ss\new 4\bin\Debug\new 4“!
f 5T-§HEEi1EadzElacksfcb sonscle runner.exe” "C: RUser!kEmmanuﬂluﬂ_
;- L] ..
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Y/compare entered number with generated numbe

if (random genNo—mnum) |
printf ("Congratulations, you have guessed a correct number.®):

| break:
]
| y b
| else if (random genNo<num 8
printf ("Generated number 1s less than entered number, try your luck again. .. Lf
} ._!':
else if (random genNo-num
! printf ("Generated number 15 greater than entered number, try your luck again s
%
A I
. i nt= Vi )
1 lf[DGu_ tf("\n\n### Maximum 1imit of acttempt finished, BAD LUCK !!1xn®)s
| prin wvn\nifs Maximum limil

break .
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Guess a number from (8 to 1l086): 18
Generated number is greater than entered number, try your luck again...

Guess a number from (@ to 10@e): 35
Generated number is greater than entered number, try your luck again..

Guess a number from (@ to 1@e8): 4@
enerated number is greater than entered number, try your luck again...

Guess a number from (© to 1800): %@
enerated number is greater than entered number, try your luck again...

uess a number from (@ to 10e0): 200
enerated number is greater than entered number, try your luck again...

uess a number from (@ to 1000): 6500
enerated number is less than entered nu:har, try your luck again...

uess a number from (@ to lil.}
2nerated number is Ilil i#ﬂﬂ[

Maximum limit ﬂf



